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HALOALKANES AND HALOARENES

1. Write the IUPAC names of the following compounds:

o View Text Solution

2. Complete the equation for the following reactions:

° View Text Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7so1GdcLC0iZ
https://dl.doubtnut.com/l/_xud6ebxkP8ja

3. Complete the equation for the following reactions:

° View Text Solution

4. Write the mechanism of the following reaction :

o View Text Solution

5. How would you account for the following :

o View Text Solution



https://dl.doubtnut.com/l/_xud6ebxkP8ja
https://dl.doubtnut.com/l/_SwAq29TkFxdD
https://dl.doubtnut.com/l/_XErVuToYmqVm
https://dl.doubtnut.com/l/_1FBLBLx7mwgK

6. How would you account for the following :

undersegoes faster Syl reaction than

WEJT

o View Text Solution

7. Out of (CH3);C — Br and (CHj3);C — I , which one is

more reactive towards Sy1 and why ?

° View Text Solution

8. Why dextro and laevo-rotatory isomers of Butan-2-ol are

difficult to separate by fractional distillation?

| o |


https://dl.doubtnut.com/l/_5wNscLvioIgz
https://dl.doubtnut.com/l/_Rr5k9MbbG5J1
https://dl.doubtnut.com/l/_x9npVIl7KFCy

| & View Text Solution

9. Why is sulphuric acid not used during the reaction of
alcohols with Kl in the conversion of an alcohol to the alkyl

iodide?

° View Text Solution

10. Haloalkanes undergo nucleophilic substitution whereas

haloarenes undergo electrophilic substitution. Explain.

o View Text Solution

11. Explain why the dipole moment of chlorobenzene is lower

than that of cyclohexyl chloride.



https://dl.doubtnut.com/l/_x9npVIl7KFCy
https://dl.doubtnut.com/l/_UdRBcc8veNSs
https://dl.doubtnut.com/l/_IU4gywa762xa
https://dl.doubtnut.com/l/_tINczmxVGDrf

| QJ View Text Solution I

12. Give reason for the following :

o View Text Solution

13. Give reason for the following :

° View Text Solution

14. Write a chemical test to distinguish between: Chloroform

and carbon tetrachloride.

o View Text Solution



https://dl.doubtnut.com/l/_tINczmxVGDrf
https://dl.doubtnut.com/l/_dYVZRyuXib07
https://dl.doubtnut.com/l/_aS9zsAiszaHk
https://dl.doubtnut.com/l/_WkZOwH53vcZL

Neet Cafe Topicwise Practice Questions

1. Amongst the C - X bond (where X = Cl Br, 1), the correct bond

energy order is

AC-Cl>C—-Br>C-1

B.C-I>C—-Cl>C—-Br

CC—Br>C-Cl>C-1

D.C—-I1>C—-Br >C-0Cl

Answer: A

o View Text Solution

2. The IUPAC name of the compound,


https://dl.doubtnut.com/l/_658jM9Hpt5tC
https://dl.doubtnut.com/l/_JbY4J9qjTVK7

A. 1,3-dibromo-3-methylbutane

B. 3-methyl-1,2-dibromobutane

C. 3-methyl-1,3-dibromopropane

D. none of these.

Answer: A

o View Text Solution

3. The IUPAC name of the given compound is

A. 3-bromo-2-methylbut-1-ene

B. 4-bromo-3-methylpent-2-ene

C. 1-bromo-2-methylbut-2-ene

D. none of these.


https://dl.doubtnut.com/l/_JbY4J9qjTVK7
https://dl.doubtnut.com/l/_V05AWPEV7IDX

Answer: B

o View Text Solution

4. Which of the following is not an allylic halide?

A. 4-Bromopent-2-ene

B. 3-Bromo-2-methylbut-1-ene

C. 1-Bromobut-2-ene

D. 4-Bromobut-1-ene

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_V05AWPEV7IDX
https://dl.doubtnut.com/l/_HxATlgmIRjB2
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A. o-bromotoluene

B. m-bromotoluene

C. p-bromotoluene

D. 3-bromo-2,2,6-trichlorotoluene.

Answer: B

o View Text Solution

6. Chlorobenzene can be prepared by reacting aniline with

A. hydrochloric acid

B. cuprous chloride


https://dl.doubtnut.com/l/_hUzSoZnAFKoi
https://dl.doubtnut.com/l/_T4AweTze2E8r

C. chlorine in presence of anhydrous aluminium chloride

D. nitrous acid followed by heating with cuprous chloride.

Answer: D

o View Text Solution

7. Which of these compounds represents the major

monochlorination isomer formed in the following reaction?

H, O )
Cl =T
H,

CH,
e

e Ny
A.


https://dl.doubtnut.com/l/_T4AweTze2E8r
https://dl.doubtnut.com/l/_0OANH1Sl7OGW
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CTCHL ),

Answer: B

o View Text Solution

8. An organic compound A forms B with sodium metal and
again A forms C with PCl, but B and C form diethyl ether.

Therefore A, B and C are


https://dl.doubtnut.com/l/_0OANH1Sl7OGW
https://dl.doubtnut.com/l/_BaBJKqGuGeqK

A. C2H5OH, 02H50Na, C2H5Cl

B. C2H5Cl, C2H50Na, C2H5OH

D. 02H5OH, C2H5Cl, CQH5ONCL.

Answer: A

o View Text Solution

9. The best method to prepare fluoroethane is

HF /| H,SO,, A
A. 02H50H >

HF
B. CgHg,OH —

HgFy ) A
C. 02H5Cl 92—2>

Fy.h
D. CoH ——


https://dl.doubtnut.com/l/_BaBJKqGuGeqK
https://dl.doubtnut.com/l/_Fwt04X1lwNas

Answer: C

o View Text Solution

101
The product P and Q are
r L4
(@} p-hromonitobenecne - bromaonn |l ine
(b} o bromonitrobenechc er-bsponromn il ine
¢ ) op-dibromonitrobenrone e pr-chiftarommomnm line
(dh - hromonitrobenzen: m-hromoaniline

o View Text Solution

11. Which of the following is the best method for synthesis of

1-bromo-3-chlorobenzene?

b, = | Horwo Cub
O N N
A H0, W1 e
o T


https://dl.doubtnut.com/l/_Fwt04X1lwNas
https://dl.doubtnut.com/l/_bwLUHwz25gvV
https://dl.doubtnut.com/l/_cvo828metyzI

Answer: B

o View Text Solution

12. HBr reacts with CHs = CH — OCH3 under anhydrous

conditions at room temperature to give

A.CH3CHQO and CHs3Br

B. BrCH,CHO and CH30H

C.BrCHy — CHs — OCHj

D. H3C — CHBr — OCHj


https://dl.doubtnut.com/l/_cvo828metyzI
https://dl.doubtnut.com/l/_bZsU8O3B8ks3

Answer: B

o View Text Solution

L&

i
Ph=—0H
| n

Which statement is true for the above reaction?

A. Retention of configuration
B. Inversion of configuration
C. Inversion and retention both

D. None of the above.

Answer: B



https://dl.doubtnut.com/l/_bZsU8O3B8ks3
https://dl.doubtnut.com/l/_sVAQoaDWxqHb

| & View Text Solution

14. Fluorobenzene (CsHsF) can be synthesised in the
laboratory
A. by heating phenol with HF and KF
B.from aniline by diazotisation followed by heating the
diazonium salt with HBF,
C. by direct fluorination of benzene with F3 gas

D. by reacting bromobenzene with NaF solution.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_sVAQoaDWxqHb
https://dl.doubtnut.com/l/_c3Rm2F4hTjGs

15. The number of structural and configurational isomers of a

bromo compound, Cs Hy Br, formed by the addition of HBr to

2-pentyne respectively are

A.1and 2

B.2 and 4

C.4 and 2

D.2and 1

Answer: B

o View Text Solution

16. Ethylene on treatment with chlorine gives

A. ethylene dichloride


https://dl.doubtnut.com/l/_AYE5j6Fhbj36
https://dl.doubtnut.com/l/_KTkEAp9FJ5hT

B. ethylene chlorohydrin

C.CH,

Answer: A

o View Text Solution

ZnXs
17. For the reaction, CoHsOH + HX — C9Hy X, the order
of reactivity is
A.HI > HCl > HBr
B.HI > HBr > HC(CI
C.HCl > HBr > HI

D.HBr > HI > HCI


https://dl.doubtnut.com/l/_KTkEAp9FJ5hT
https://dl.doubtnut.com/l/_p5ciZTXhJcZ3

Answer: B

o View Text Solution

18. CH; — CH, — CH — (C'H; obtained by chlorination of n-
|

Cl

butane will be

A. meso-form
B. racemic mixture
C.d-form

D. |-form

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_p5ciZTXhJcZ3
https://dl.doubtnut.com/l/_R4z7KQ9tQDsT
https://dl.doubtnut.com/l/_amgpo9KvPSDI

19. Chlorobenzene is prepared commercially by

A. Grignard reaction

B. Raschig process

C. Wurtz-Fittig reaction

D. Friedel-Crafts reaction

Answer: B

o View Text Solution

20. Identify Y in the

NaNO,/ HCl CuBr/ HBr

280K

following

reaction,


https://dl.doubtnut.com/l/_amgpo9KvPSDI
https://dl.doubtnut.com/l/_dHL0dU4sdEYX

OE‘@"E @ P@‘E


https://dl.doubtnut.com/l/_dHL0dU4sdEYX

Answer: A

o View Text Solution

21. The reaction of toluene with chlorine in presence of FeCls

gives predominantly

A. a mixture of o-and p-chlorotoluene

B. benzyl chloride

C. m-chlorotoluene

D. benzoyl chloride


https://dl.doubtnut.com/l/_dHL0dU4sdEYX
https://dl.doubtnut.com/l/_RnbRK4PgvFpC

Answer: A

o View Text Solution

22. Allylic halogen substitution can be done with

A. halogen at high temperature

B. NBS in sunlight

C. sulphonyl chloride in sunlight

D. all of these.

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_RnbRK4PgvFpC
https://dl.doubtnut.com/l/_KHxHBIIiU6XT

C]*ﬂ.ﬂrz.

23. Product

(Z) may be


https://dl.doubtnut.com/l/_u6lDH43h2ES3

Answer: D

o View Text Solution

24. Which observation/s will be correct about the major

products X and Y of the following reaction?

3
S
KOS
—-—Ei—l. ¥ _'E,_._., y
D D
A. (i) and (ii)

B. (ii) and (iv)


https://dl.doubtnut.com/l/_u6lDH43h2ES3
https://dl.doubtnut.com/l/_M26vV5amfhQ7

C. (i) and (iii)

D. (i) and (iv)

Answer: B

o View Text Solution

25. Benzyl chloride (C¢H;CH,Cl) can be prepared from
toluene by chlorination with

A. HOCI

B. SOCl,

C.Cl,

D. NaOCl

Answer: C


https://dl.doubtnut.com/l/_M26vV5amfhQ7
https://dl.doubtnut.com/l/_WPgBPB8oPf1Z

o View Text Solution

26. Which is finally produced when acetylene reacts with HCI?

A.CH, = CHCI

B. CH,CHCl,

C.CICH = CHCI

D. None of these

Answer: B

o View Text Solution

27. Preparation of alkyl halides in laboratory is least preferred

by


https://dl.doubtnut.com/l/_WPgBPB8oPf1Z
https://dl.doubtnut.com/l/_3EPk6n2ZXU4r
https://dl.doubtnut.com/l/_f1drU4tnjUvZ

A. halide exchange

B. direct halogenation of alkanes

C. treatment of alcohols

D. addition of hydrogen halides to alkenes

Answer: B

o View Text Solution

28.CHy — CH = CHy + HI — X.HereXis

A. CH3CHy,CH,I

B. CHyCHICH,

C. CH;CH,CH,

D. CH;CH; + CH,


https://dl.doubtnut.com/l/_f1drU4tnjUvZ
https://dl.doubtnut.com/l/_WemaKzVbsOyH

Answer: B

o View Text Solution

29. The reaction,

Br

|
CH2 = CH — CHg + HBr — CHg — CHCH3

A. nucleophilic addition

B. electrophilic addition

C. electrophilic substitution

D. free radical addition

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_WemaKzVbsOyH
https://dl.doubtnut.com/l/_ZQ2YYEcs7PCP
https://dl.doubtnut.com/l/_290LY1gaqWlI

30. Alkyl halide cannot be obtained from alkane or alkene by

reaction with

A. HBr

B. HCI

c. PCly

D. Cl,

Answer: C

o View Text Solution

31. When toluene reacts with Cl, at a low temperature in

presence of a catalyst (FeCl,) the product obtained is

A. only o-chlorotoluene


https://dl.doubtnut.com/l/_290LY1gaqWlI
https://dl.doubtnut.com/l/_xRlbYM0kHpPI

B. only m-chlorotoluene

C. only p-chlorotoluene

D. a mixture of ortho-and para-chlorotoluene.

Answer: D

o View Text Solution

32. When chlorine is passed through propene at 400° C, which

of the following is formed?

A. PVC

B. Allyl chloride

C. Propyl chloride

D. 1,2-Dichloroethane


https://dl.doubtnut.com/l/_xRlbYM0kHpPI
https://dl.doubtnut.com/l/_SUXvegZsgRPO

Answer: B

o View Text Solution

33. The synthesis of alkyl fluorides is best accomplished by
heating an alkyl chloride/bromide in the presence of metallic
fluoride such as AgF', HgyF5, CoF, or SbF;. The reaction is
termed as

A. Etard reaction

B. Swarts reaction

C. Birch reduction

D. Dieckmann reaction.

Answer: B

| o \iAwr Tavk CAliikiAan



https://dl.doubtnut.com/l/_SUXvegZsgRPO
https://dl.doubtnut.com/l/_GaMu1wPL3XHO

| & VIGYY IGAL JVIVLIVIL J

CH, - C=CH,
©/ ] b Ry ereasde
34. What is

X?

©/1 HB: - € =CH,
A.

B

1
3 - CH - CH,
I
on
@,['H‘. CH, - CH, B
C.

Br
i CH, - ¢ =CH,
H
D.

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_GaMu1wPL3XHO
https://dl.doubtnut.com/l/_DQY0mRdxsVQM
https://dl.doubtnut.com/l/_rumTY2SFzm6e

35. Ethyl bromide can be obtained by

LiAlHy HBr
A.CH;COOCy,Hy —— —

8. CH3CHyCOOAg + Brs 2%

P Sodalime
C.CH3CHy;COOH + Bro N > >
D. all of the above
Answer: D
o View Text Solution
-, . CH o CHy
|
SAENS)
- 24

A. Chlorination


https://dl.doubtnut.com/l/_rumTY2SFzm6e
https://dl.doubtnut.com/l/_UoQMLDpReKN3

B. Bromination

C. No such preference

D. Both would give very poor yield

Answer: B

o View Text Solution

37. The major product of the following reaction is

CH,


https://dl.doubtnut.com/l/_UoQMLDpReKN3
https://dl.doubtnut.com/l/_iDvOWGPvILGs

D. both (a) and (b)

Answer: D

o View Text Solution

38. Predict the correct stereoisomeric product for the

following reaction :


https://dl.doubtnut.com/l/_iDvOWGPvILGs
https://dl.doubtnut.com/l/_sJ8hJU4MstBG

A. d-form

B. I-form

C. racemic mixture

D. meso form.

Answer: C

o View Text Solution

39. When ethyl iodide and n-propyl iodide are allowed to react

with sodium metal in ether, the number of alkanes that could

be produced is

A.onlyone

B. two alkanes


https://dl.doubtnut.com/l/_sJ8hJU4MstBG
https://dl.doubtnut.com/l/_T3bQyLBdnvi4

C. three alkanes

D. four alkanes

Answer: C

o View Text Solution

40. Iso-propyl chloride undergoes hydrolysis by

A. Sy 1 mechanism

B. Sy 2 mechanism

C. Sy1 and Sy2 mechanism

D. neither Sy 1 nor Sy 2 mechanism.

Answer: C

| o View Text Solution


https://dl.doubtnut.com/l/_T3bQyLBdnvi4
https://dl.doubtnut.com/l/_S9bog7eMRGQ9

41. The order of reactivity of alkyl halides towards elimination

reaction is

A3° >2° >1°

B.2° >1° > 3°

D.1° > 2° > 3°

Answer: A

o View Text Solution

42. Arrange the following halides in the decreasing order of

Sn1 reactivity:


https://dl.doubtnut.com/l/_S9bog7eMRGQ9
https://dl.doubtnut.com/l/_HBLI2Fq1CzF4
https://dl.doubtnut.com/l/_9BzNzPFLIr8x

Al>1II>III

B.II > 1 > 1III

C.II > 1III > 1

D.IIT > II > 1

Answer: C

o View Text Solution

43. Aryl halides are less reactive towards nucleophilic

substitution reaction as compared to alkyl halides due to

A. the formation of less stable carbonium ion

B. resonance stabilization

C.longer carbon-halogen bond


https://dl.doubtnut.com/l/_9BzNzPFLIr8x
https://dl.doubtnut.com/l/_74w0LUmD9SAA

D. the inductive effect

Answer: B

o View Text Solution

44. Which chloroderivative of benzene among the following
would undergo hydrolysis most readily with aqueous sodium

hydroxide to furnish the corresponding hydroxy derivative?

(1 -

ON @ﬁ
A BN
B.

e
C.

D. C4H,Cl


https://dl.doubtnut.com/l/_74w0LUmD9SAA
https://dl.doubtnut.com/l/_FX4k8ZnemItj

Answer: A

o View Text Solution

45. Which of the following is a free radical substitution

reaction?

CHO

N AN
B. @ b Ol ¢ A AT @/l“‘

C.. @/r'u_.("w ,\'}\1_1‘_;@“"- i

D. CH;CHO + HCN — CH,CH(OH)CN

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_FX4k8ZnemItj
https://dl.doubtnut.com/l/_kqavitwMPVON
https://dl.doubtnut.com/l/_nPfhMcA0vsyR

46. In which of the following reactions, the product is an

ether?

A.C¢Hg + CH3COCI// anhydrous AlCl;

C. 06H6 + 06H5COCZ/ anhydrous Al0l3

D. C2H5Cl ‘|— C2H50Na

Answer: D

o View Text Solution

47. Arrange the given compounds in decreasing order of

boiling points.

Al>III>1II


https://dl.doubtnut.com/l/_nPfhMcA0vsyR
https://dl.doubtnut.com/l/_PpP6ZUYSVxch

B.II >1 > 1III

C.I>1II>1III

D.III > 1 > 11

Answer: A

o View Text Solution

48. The compound that forms racemic products on reaction

with aqueous KOH is

A. 3, 4-dimethyl-1-iodopentane

B. 2, 3-dimethyl-3-iodopentane

C. 1-iodo-3-methylpentane

D. 1-iodo-4-methylpentane.


https://dl.doubtnut.com/l/_PpP6ZUYSVxch
https://dl.doubtnut.com/l/_vUI5Uec6AmON

Answer: B

o View Text Solution

49. Chlorobenzene on heating with NaOH at 300°C' under
pressure gives

A. phenol

B. benzaldehyde

C. chlorophenol

D. none of these.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_vUI5Uec6AmON
https://dl.doubtnut.com/l/_RQdIYilI0KI6
https://dl.doubtnut.com/l/_BmVPyJEwZIE2

50. C¢H5Cl on treating with NaOH at 300° C gives phenol.

However the yield is poor because of side reaction producing

A. 06H5ON(I

B. Oy Hs OC H

C. CsHsOC, H,

D. none of these

Answer: C

o View Text Solution

51. Which of the following undergoes nucleophilic substitution

exclusively by S 1 mechanism?

A. Benzyl chloride


https://dl.doubtnut.com/l/_BmVPyJEwZIE2
https://dl.doubtnut.com/l/_CHG2fOjRyzvF

B. Ethyl chloride

C. Chlorobenzene

D. Iso-Propyl chloride

Answer: A

o View Text Solution

52. The most reactive compound for electrophilic nitration will

be

A. benzyl chloride

B. benzoic acid

C. nitrobenzene

D. chlorobenzene


https://dl.doubtnut.com/l/_CHG2fOjRyzvF
https://dl.doubtnut.com/l/_5BpXXY0bIEVp

Answer: A

o View Text Solution

53. Which of the following compounds on oxidation gives

benzoic acid?

A. Chlorophenol

B. Chlorotoluene

C. Chlorobenzene

D. Benzyl chloride

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_5BpXXY0bIEVp
https://dl.doubtnut.com/l/_e0wanrSwpILz
https://dl.doubtnut.com/l/_O8YZelaarRgb

alcohol

54.R—CH, - Br+Ag—C=N-—"57Z

AR-CH,—-C=N

BR—CHQ—NEC

C.R—CHQ—CHQ—CEN

D.both R — CH2 — CH2 — Rand R — CH2 — CN.

Answer: B

o View Text Solution

O—a -G

A.aq.NOH

55.

B. alc. KOH


https://dl.doubtnut.com/l/_O8YZelaarRgb
https://dl.doubtnut.com/l/_3zh3KaA6SOGo

C. (CyHj5) N

D. both (b) and (c)

Answer: D

o View Text Solution

56. The organic chloro compound, which shows complete
stereochemical inversion during a Sy 2 reaction, is

A.CH;3Cl

B. (CyHj5),CHCI

C.(CHj;),CCl

D. (CH;),CHCI

Answer: A


https://dl.doubtnut.com/l/_3zh3KaA6SOGo
https://dl.doubtnut.com/l/_CIHRBu9TbK8B

o View Text Solution

57. Which of the following compounds does not rotate the

plane polarised light?

A. 2-Chloropropanoic acid

B. 2-Chlorobutane

C. 4-Hydroxyheptane

D. 2-Chloro-1-deuteropropane

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_CIHRBu9TbK8B
https://dl.doubtnut.com/l/_sWLVbjAYKWsb

BI'F:CH o F CH,( H:(T{ leq)

C=C
1.0 ™
s H,C F
major product is
ElUF:('K L |/"F

A HCT T OF

b .
>C~E—F
H.C I
B. F
BrF, (. _OFt
c. HCT o OF
FOBrFC ~— F
D HC” OF
Answer: B

>|X]

[x]

o View Text Solution



https://dl.doubtnut.com/l/_gKCgEE7MK4lq

(S]
59. CH,CH = CHCl ——»

Acetone

A.CH;CH = CHI
B.CH;CH = CH — CH = CH — CH;4
C. both(a) and (b)

D. none of these

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_3kF2FiJywK8A

Br

o ®
)\/ f_Hu“h}[.!l.'-J.
-BuOH

60. . The

major product [X] is


https://dl.doubtnut.com/l/_Yfe4w2uGWKdK

Answer: B

o View Text Solution

Hr_'
CCl,

61. product.

The formation of product involves

A. Sy1 reaction
B. Sy 2 reaction
C. Elreaction

D. none of these.


https://dl.doubtnut.com/l/_Yfe4w2uGWKdK
https://dl.doubtnut.com/l/_XwEErLsq6FCs

Answer: B

o View Text Solution

DMSO . .
62. CH;I —— [X]. The major product [X] is

[ )
A. |Me3S = 0]19

- o .
B. [MeyS — OMe]I

C. both (a) and (b)

D. none of these.

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_XwEErLsq6FCs
https://dl.doubtnut.com/l/_nmNpuXuev2yM

63.

H,C — CH, — CH — CH; — HyC — CHy — CH — CH, — Cl
| |
Cl Cl

A. Racemised product
B. Inverted product
C. Retained product

D. More inverted than retained

Answer: C

o View Text Solution

64. When (CHj3),CCH,Clis heated at 300° C, it gives


https://dl.doubtnut.com/l/_TRRFK22iWzkx
https://dl.doubtnut.com/l/_VM2TxWvVH995

A H CH]
H3C CH3
H3C
B Cl
H,C CH,

Answer: B

° View Text Solution

65. o-Chlorotoluene can undergo

A. only (i)


https://dl.doubtnut.com/l/_VM2TxWvVH995
https://dl.doubtnut.com/l/_FX21X0cwCJpw

B. (i) and (iv)

C. (i), (i) and (iv)

D. all of these

Answer: C

o View Text Solution

66. S 1 reactivity of the following halides will be in the order

A (v) > (iv) > (i) > (ii)) > (i)

B. (i) > (i) > (iii) > (v) > (iv)

C.(i)) > (i) > (v) > (i) > (iv)

D. (iii) > (i) > (i) > (iv) > (v)

Answer: D


https://dl.doubtnut.com/l/_FX21X0cwCJpw
https://dl.doubtnut.com/l/_c7yqAsa1xAXG

o View Text Solution

67. Which of the following is correct?

A. Sy 1 reaction involves transition state and completed in

polar protic solvents.

B. Sy 2 reaction is stereoselective as well as stereospecific.

C. Walden inversion is Sy 1 reaction.

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_c7yqAsa1xAXG
https://dl.doubtnut.com/l/_duFJzXl4fWc3

68. The reactivities of methyl chloride (A), propyl chloride (B)

and chlorobenzene (C) are in the order

AAA>B>C

B.C>B> A

CA>C>B

DB>A>C

Answer: A

o View Text Solution

69. The product obtained on reaction of CyH;Cl with

hydrogen over palladium carbon is


https://dl.doubtnut.com/l/_bJMKY6qecpnk
https://dl.doubtnut.com/l/_756FGMOslhZD

B. C4H10

D.C, H,

Answer: C

o View Text Solution

70. Ethyl iodide on reduction with Zn-Cu couple and alcohol

produces

A. ethane

B. methane

C. butane

D. propane


https://dl.doubtnut.com/l/_756FGMOslhZD
https://dl.doubtnut.com/l/_uD4TM4fgRMmR

Answer: A

o View Text Solution

71. Mustard gas is

A.dichlorodiethylsulphide

B. dichlorodimethylsulphide

C. dichlorodimethylether

D. none of these

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_uD4TM4fgRMmR
https://dl.doubtnut.com/l/_zUcSv8OLvxnA

72. Which of the following is involved in Sandmeyer's reaction?

A. Ferrous salt

B. Diazonium salt

C. Ammonium salt

D. Cupramonium salt

Answer: B

o View Text Solution

73. The major product obtained on treatment of

A. CH;CH,CH(OCH;)CHs,


https://dl.doubtnut.com/l/_9XpLkAW5dH0E
https://dl.doubtnut.com/l/_1TdNYIORrqVN

B.CH;CH = CHCH,

C. CHgCHQCH — CH2

D. CH,CH,CH,CH,OCH,

Answer: B

o View Text Solution

74.The final product of the following sequence of reactions is

A. acetic acid

B. acetaldehyde

C. ethyl alcohol

D. formic acid

Answer: C


https://dl.doubtnut.com/l/_1TdNYIORrqVN
https://dl.doubtnut.com/l/_oM5yswsC8quN

o View Text Solution

75. Methyl bromide and ethyl bromide are mixed in equal

proportion and the mixture is treated with sodium, the

number of possible organic products is

A1l

B.2

C.3

D.4

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_oM5yswsC8quN
https://dl.doubtnut.com/l/_gqcP5BEI9qfI

76. The general reaction is expected to follow decreasing order

of reactivity as in(t-Bu = tertiary butyl group)

A.t-Bul > 1-BuBr > t-BuCl > -Buf

B.1-BuF > -BuCl > t-BuBr > t-Bul

C.t-BuBr > 1-BuCl > t-Bul > t-BuF

D.t-BuF > t-BuCl > t-Bul > 1-BuBr

Answer: A

o View Text Solution

77. Under basic conditions which one suffers elimination the

most?

A.(CH;),CCl


https://dl.doubtnut.com/l/_YaIcG9iYKFyw
https://dl.doubtnut.com/l/_JIncdZ3IgZge

B.CH;CH, — CH — CH;
|
Cl

C.CH3;CH>;CHy; — CHy; — Cl
Cl

CH—CH,C]
CH,
D. 1

Answer: A

° View Text Solution

78. Among the following the most highly ionised in water is

A. CHsCH,CH(CI)COOH
B. CH3;CH,CCl,COOH
C. CH;CH(Cl)CH,COOH

D. CHy(Cl)CH,CH,COOH


https://dl.doubtnut.com/l/_JIncdZ3IgZge
https://dl.doubtnut.com/l/_eU1tGCpWDOR1

Answer: B

o View Text Solution

79. Alkyl chlorosilanes are made by RX with silicon in presence

of

A. Cu powder

B.NH,OH

C. Mn powder

D. Zn powder.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_eU1tGCpWDOR1
https://dl.doubtnut.com/l/_Ioiq3tDWSNVv
https://dl.doubtnut.com/l/_JPYcOM7d30IU

80. Which compound on nitration will give highest amount of

m- substituted product?

(C'H,

©
©

—Cl
? ~cl

D.

CH,—Cl
C

SN

Cl
Cl


https://dl.doubtnut.com/l/_JPYcOM7d30IU

Answer: D

o View Text Solution

81. Ethyl chloride is converted into diethyl ether by

A. Perkin's reaction
B. Grignard reagent
C. Wurtz reaction

D. Williamson's synthesis

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_JPYcOM7d30IU
https://dl.doubtnut.com/l/_VGWvh0A9iluz

82. The main product of the given reaction is
vy M w0
O)—ar e,

A. phenyl cyanide

B. nitrophenol

C. aniline

D. hydroxylamine .

Answer: C

o View Text Solution

8. In the following pairs of halogen compounds , which

compound undergoes faster Sy 1 reaction :?


https://dl.doubtnut.com/l/_jQzMDD8dBbIo
https://dl.doubtnut.com/l/_UBeFTKiAOOFk

Ll (]

=~ and \)v

Cl

/\/\/I\ and 7"

Cl <l
A. m\(L/ {ii]/\/\/l\

Cl Cl

B. () )\ (i) A

Cl

c. \“A/

(i) ™"l

Cl

D (i /)\ (il) 7N

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_UBeFTKiAOOFk

84.To prepare a pure sample of n-hexane using sodium metal

as one reactant, the other reactant or reactants will be

A. ethyl chloride and n-butyl chloride

B. ethyl chloride and n-butyl bromide

C. n-propyl bromide

D. methyl bromide and n-pentyl chloride

Answer: C

o View Text Solution

85. Which of the following compounds is not chiral?

A. 1-Chloropentane


https://dl.doubtnut.com/l/_p6vfzFmiaaab
https://dl.doubtnut.com/l/_5sNrKRUvQyBi

B. 2-Chloropentane

C. 1-Chloro-2-methylpentane

D. 3-Chloro-2-methylpentane

Answer: A

o View Text Solution

86. Phosgene is a common name for

A. phosphoryl chloride

B. thionyl chloride

C. carbon dioxide and phosphine

D. carbonyl chloride

Answer: D


https://dl.doubtnut.com/l/_5sNrKRUvQyBi
https://dl.doubtnut.com/l/_j4WFjxGIpGnm

o View Text Solution

87. The main compound obtained when chlorobenzene is

heated with chloral in presence of concentrated H,50 is

A.DDT

B. TNT

C. BHC

D. none of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_j4WFjxGIpGnm
https://dl.doubtnut.com/l/_6KbDXeUjBk8X

88. A compound has vapour density 29. On warming with a

solution of iodine in alkali, it gives a yellow precipitate, the

compound is

A. CH3CH,CHO

B. CH;COCHs

C. CH;CHOHCHs

D. CH2 = CHCHgBT‘ .

Answer: B

o View Text Solution

89. Chloroform on reduction with Zn and HClI (alc.) gives

A. formic acid


https://dl.doubtnut.com/l/_QxjU1qbb7ZFx
https://dl.doubtnut.com/l/_OmRwdi3dSzmt

B. chloretone

C. chloropicrin

D. methylene dichloride

Answer: D

o View Text Solution

90. The shape of CHCl3 molecule is

A. pyramidal

B. linear

C. tetrahedral

D. trigonal pyramidal

Answer: C


https://dl.doubtnut.com/l/_OmRwdi3dSzmt
https://dl.doubtnut.com/l/_hcbdZoCnWfMh

o View Text Solution

91. Chloroform on reaction with conc. HNQOj gives

A. chloropicrin
B. nitromethane
C. picric acid

D. acetylene

Answer: A

o View Text Solution

92. Which set of reagents will produce CCly F5?


https://dl.doubtnut.com/l/_hcbdZoCnWfMh
https://dl.doubtnut.com/l/_3cwRuC6IcpCL
https://dl.doubtnut.com/l/_6f6ksnrbuMil

A.C + Fy + Cl,
B. CH,Cl + F,
SbCls

C.CCl, + HF ==

D. All of these

Answer: C

° View Text Solution

93. Chloropicrin used as an insecticide and a war gas is

A. CH,CICCl,
B. CCl3NO,
C. CH,(OH)CH,Cl

D.CHI,


https://dl.doubtnut.com/l/_6f6ksnrbuMil
https://dl.doubtnut.com/l/_aUSgwcLlQ0r5

Answer: B

o View Text Solution

Check Your Neet Vitals

1. Which of the following compounds will give 1-bromo-4-

trichloromethylbenzene?

Bra Cls
A. Toluene —— o-Bromotoluene ——
FeBrg hv, heat
Cl2
B. Toluene ——> p- Bromotoluene ——
hv, heat
Cls Brs
C.Toluene —— Trichloromethylbenzene —
hv, heat Fe
Cly Bry
D. Toluene —> p - Chlorotoluene —
Fe

Answer: B

la


https://dl.doubtnut.com/l/_aUSgwcLlQ0r5
https://dl.doubtnut.com/l/_ImQ0bHgnGswk

| ¥ VIEw lext Solution ]

2. Consider the following alkyl halides :
. (CH3);CBr Il .CH;3Br
. C2H5B7’ V. CH3CHB’T’CH3
Arrange these alkyl halides in decreasing order of reactivity in
Williamson reaction.
AT>1V > 111 > 11
B.I > II>1III > 1V

C.IV > 1III > 11 >1

D.II > III > 1V >1

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_ImQ0bHgnGswk
https://dl.doubtnut.com/l/_VzrnBuajasfy

3. Which is hydrolysed at the fastest rate?

Cl
i

A

Answer: A

° View Text Solution

4. Arrange the following compounds in the decreasing order

of their reactivity towards Sy 2 reaction :


https://dl.doubtnut.com/l/_bCyMJvd0VvTn
https://dl.doubtnut.com/l/_hmU8hwIH7Heh

(1 <; >—L'il-['| ||||€_\>—{'H=i'll 1,00

Atv > 111 > 1 > 1t
B.2z > 1 > 111 > v
C.i > 1t >9v > 111

D.2tz > 11 > 1 > v

Answer: B

o View Text Solution

5. An organic compound X (CyHyCl) on reaction with
Na/diethyl ether gives a hydrocarbon which on

monochlorination gives only one chloro derivative. Then, X is

A. t-butyl chloride


https://dl.doubtnut.com/l/_hmU8hwIH7Heh
https://dl.doubtnut.com/l/_Av8LmCZYYOUA

B. s-butyl chloride

C. iso-butyl chloride

D. n-butyl chloride.

Answer: A

o View Text Solution

6. Which of the following compounds will undergo

racemisation when solution is hydrolysed with KOH?

CH,Cl

(i) @ (i) CH,CH,CH,Cl
v

Cli, fﬁ'”‘
I
- . ot et ew i C
{iit) H4C—=CH— CH,CI v) i |HC]

C,Hs

A. Only (i) and (ii)


https://dl.doubtnut.com/l/_Av8LmCZYYOUA
https://dl.doubtnut.com/l/_kPaEANbXT9VV

B. Only (ii) and (iv)

C. Only (iii) and (iv)

D. Only (iv)

Answer: D

o View Text Solution

7. The best method for the conversion of an alcohol into an

alkyl chloride is by treating the alcohol with

A. PCI;

B. SOCI, in presence of pyridine

C. PCl3

D. dry HCl in presence of anhydrous ZnCl,.


https://dl.doubtnut.com/l/_kPaEANbXT9VV
https://dl.doubtnut.com/l/_AC8Ms5oYdFYr

Answer: B

o View Text Solution

8. Mg reacts with alkyl bromide best in

A CsHsOC Hs
B. CoH; N(CH;),
C. CyH;OC, H

D. equally in all three solvents.

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_AC8Ms5oYdFYr
https://dl.doubtnut.com/l/_vIbi655tLlSY

9. Which of the following is a primary halide?

A. Isopropyl iodide

B. Secondary butyl iodide

C. Tertiary butyl bromide

D. Neohexyl chloride

Answer: D

o View Text Solution

H CH;

| |
10. The compound H — C — C — Cl has its IUPAC name as

| |
H CH3

A. 1-chloro-1, 1-dimethylethane


https://dl.doubtnut.com/l/_EvLaA2IYJ4GW
https://dl.doubtnut.com/l/_I2aLbP1Ihqkz

B. 2-chloro-2-methylpropane

C. tert-butyl chloride

D. 2-methyl-2-propyl chloride.

Answer: B

o View Text Solution

11. Regarding addition of HBr to 2-butene, which of the

following is true?

A. Markownikoff's rule is not obeyed.

B. Abnormal condition will take place in the presence of

peroxide.

C. Normal and abnormal conditions will give the isomers.


https://dl.doubtnut.com/l/_I2aLbP1Ihqkz
https://dl.doubtnut.com/l/_LeZJSmOA3We8

D. In any case, the product is the same.

Answer: D

o View Text Solution

12. Select the by-product formed in the reaction :

ROH + PCls — ROl + ... F o,

A. POCl3 + HCI

B. H3PO3 + no other by -product

C. H;PO; + HCI

D. POCl3 + No other by - product

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_LeZJSmOA3We8
https://dl.doubtnut.com/l/_iJrMlvoCSRjH

CHj;

| C,H;ONa
13.In this reaction CH; — C — CHy — CHy ———
|

Alcoholic
Br

A. 2-ethoxy-2-methylbutane is the major product in the
presence of ethoxide ion

B. mixture of 2-methyl-2-butene and 2-methyl 1-butene is
formed in the presence of ethoxide ion

C. both are correct

D. none of these.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_iJrMlvoCSRjH
https://dl.doubtnut.com/l/_fbGOqXMVZpCW

14. Consider the following reactions :

alc. KOH
CH; — underst( | \CH —CHy; —— X HBr —Y

Br Organic peroxide

The products X and Y are respectively

NG /\I/
Br

A.
Br
5 - A
C. Br
A, o Br
D.
Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_BbApfNul4Oyv

15. An organic halogen compound X on hydrolysis using
aqueous KOH gives Y which liberates Hy gas with metallic
sodium. X is optically active whereas Y does not rotate the

plane polarized light, so X is possibly

A.CH; — CH, — CH, — CH, — Cl

CH;
B. CH, — —: CH,
Br o
C.CH; — CH, — o CH,
o
CH,
D.CH; — C H — C_H
cm B

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_U6gXNwPwNabL
https://dl.doubtnut.com/l/_zTU9p7fMvF2W

16. An alkyl halide of formula C4HyCl on treatment with
alcoholic potash gives alkenes C,;Hg. Both alkenes on
treatment with HI give 2-iodobutane. Isomeric alkenes are

A.CH;CH,;CH = CHy and CH3CH = CHCHj;

B. CHgCHzCH = CH2 and (CH3)2C = CHz

C. CHgCH = CH2 and CHgCH = CHCH3

D. CHgCHgCH = CH2 and CH3CH = CHQ

Answer: A

° View Text Solution

17. Some statements are given below:
1. Kharasch effect is only applicable for Hl.

2. Wurtz reaction can be used to ascend the alkane series.


https://dl.doubtnut.com/l/_zTU9p7fMvF2W
https://dl.doubtnut.com/l/_Ph5DIMO7UbE7

3. Ease of elimination of R-X is 1° > 2° > 3°.
4. Addition of H-X in alkene is an example of positive
electromeric effect. Among the above, the correct statement(s)
is/are

A.only 4

B.only 1and 2

C.only3 and 4

D.only 2 and 4

Answer: D

o View Text Solution

18. iso-Propyl chloride undergoes hydrolysis by


https://dl.doubtnut.com/l/_Ph5DIMO7UbE7
https://dl.doubtnut.com/l/_pTpnfe08J9kM

A. Sy 1 mechanism

B. Sy 2 mechanism

C. either Sy1 or Sx2 mechanism

D. neither Sy 1 nor Sy 2 mechanism.

Answer: C

o View Text Solution

19. During Syl reaction mechanism of alkyl halides, the

change observed is

A. retention of configuration

B. inversion of configuration

C. both retention and inversion of configuration


https://dl.doubtnut.com/l/_pTpnfe08J9kM
https://dl.doubtnut.com/l/_PLO6INTgCjw8

D. retention of geometry

Answer: C

o View Text Solution

20. The order of reactivity towards Sy 1 reactions of following

compounds is

dhd > Ky

Br I

AT >1I>111
B.III >1 > 11
C.III >1II >1

D.IIT > III > 1


https://dl.doubtnut.com/l/_PLO6INTgCjw8
https://dl.doubtnut.com/l/_y84mQ73VrOZU

Answer: C

o View Text Solution

21. Pick out the correct statement.

1. The C -Cl bond in chlorobenzene is shorter than methyl
chloride.

2. The C -Cl bond in chlorobenzene has some double bond
character.

3. It is difficult to replace chlorine from chlorobenzene than

from benzyl chloride

A.Only 1,2

B.Only 1,3

C.All1,2and 3


https://dl.doubtnut.com/l/_y84mQ73VrOZU
https://dl.doubtnut.com/l/_QT9WmPRArXWY

D. Only 1

Answer: C

o View Text Solution

22. Aryl halides are less reactive than alkyl halides in
nucleophilic substitution reaction which is due to

1. the formation of less stable carbonium ion

2. resonance stabilization

3.longer C—X bond

4.the inductive effect

5.sp>-hydridized carbon atom attached to halogen.

A. 13,5

B.2,4,5


https://dl.doubtnut.com/l/_QT9WmPRArXWY
https://dl.doubtnut.com/l/_7yhlPsyAUrqt

C. 2,35

D.2,5

Answer: D

o View Text Solution

23. Chlorobenzene can be prepared by reacting aniline with

A. hydrochloric acid

B. cuprous chloride

C. chlorine in presence of anhydrous aluminum chloride

D. nitrous acid followed by heating with cuprous chloride.

Answer: D

| o View Text Solution


https://dl.doubtnut.com/l/_7yhlPsyAUrqt
https://dl.doubtnut.com/l/_g5zau7axrHfd

24. Which of the following compounds are arranged in order

of decreasing reactivity towards electrophilic substitution?

A. p-Chlorotoluene > o-Chlorotoluene > p-

Nitrochlorobenzene

B. p-Nitrochlorobenzene >  o-Chlorotoluene > p-

Chlorotoluene

C.p-Chlorotoluene >  p-Nitrochlorobenzene > o-

Chlorotoluene

D. o-Chlorotoluene > p-Chlorotoluene > p-

Nitrochlorobenzene

Answer: A



https://dl.doubtnut.com/l/_g5zau7axrHfd
https://dl.doubtnut.com/l/_rvgVeP8H6sgc

| & View Text Solution

25. Major product of this reaction is

@—GH=£H{:H,+HB:- »?

(O ) cH,cHCH,
|

A. Br

. !
{ () % CHCH,CH,
Lof | '

B

{ O >—('_'H‘.(:II:(.H‘.I1r
C.

D. No reaction

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_rvgVeP8H6sgc
https://dl.doubtnut.com/l/_3hmvjMrjPxKC

Aimpt Neet

1. The correct order of increasing reactivity of C-X bond

towards nucleophile in the following compounds is

NO,
(CHajsC =X (CHqpCH—X

'~.J-:)2
"

Al <II<IV <III
B.II < III <I< IV
CIV<III<I<II

D.III < Il < I< IV

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_qgtPjswx970F

2.In the following reaction

Ether
Ce¢HsCH,Br g4> X, the product X' is
2. H;O+

A. 06H5CHQOCH2CGH5

B. Cs H;CH,OH

C. CsH;CHs;

D. 06H5CH20H206H5

Answer: C

o View Text Solution

3. Which of the following compounds will undergo

racemisation when solution of KOH hydrolyses?


https://dl.doubtnut.com/l/_NesSSHmDkTL6
https://dl.doubtnut.com/l/_cT68OLpRvLlG

CH,CI

(i) [:jf (i) CH,CH.CH,C!

: CH,
*:T‘-H1 |
O
(i) HyC—CH—CH,CL (V) B T O
C4H;

A. (i) and (ii)

B. (ii) and (iv)

C. (iii) and (iv)

D. (i) and (iv)

Answer:

o View Text Solution

4.The reaction of CiH;CH = C'HC H; with HBr produces


https://dl.doubtnut.com/l/_cT68OLpRvLlG
https://dl.doubtnut.com/l/_RBflp9Dy7DPM

A. 06H5CH2CH2HCQBT
CH=CHCH,

-

~

B. Bt

C.CsHs |C’HCH2CH3

Br

D.CsHsCH> |CHCH3

Br

Answer: C

° View Text Solution

5. Two possible stereo-structures of CH3sCHOHCOOH,

which are optically active, are called

A. atropisomers


https://dl.doubtnut.com/l/_RBflp9Dy7DPM
https://dl.doubtnut.com/l/_BFjtqKY3893Z

B. enantiomers

C. mesomers

D. diastereomers

Answer: B

o View Text Solution

6.1n an Sy 1 reaction on chiral centres, there is

A.inversion more than retention leading to partial

racemisation

B. 100% retention

C.100% inversion

D. 100% racemisation.


https://dl.doubtnut.com/l/_BFjtqKY3893Z
https://dl.doubtnut.com/l/_gw5BeBw9IKes

Answer: A

o View Text Solution

7. Consider the reaction,
CH;CH,CHyBR + NaCN — CH3CHy,CH,CN + NaBr

This reaction will be the fastest in

A. ethanol
B. methanol
C. N,N'-dimethylformamide (DMF)

D. water

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_gw5BeBw9IKes
https://dl.doubtnut.com/l/_LCrYDgGff2XA

8.Identify A and predict the type of reaction.
OCH
3

NaNH,

» A
Hr

0CH,

NH,
A and elimination addition reaction
.

OCH,

Br
B ©/ and cine substitution reaction
.

OCH,

C and cine substitution reaction

OCH,

@\ and substitution reaction
D. NH,

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_KRm17BzaVdOy

9. The compound A on treatment with Na gives B, and with

PCl5 gives C. B and C react together to give diethyl ether. A, B

and C are in the order

A.CyH5OH, CyHg, CoH5Cl

B. CgHg,OH, 02H5Cl, 02H50Na

C. CoH:Cl, CyHy, Cy HsOH

D. 02H5OH, 02H50Na, C2H5Cl

Answer: D

o View Text Solution

10. The compound C'; Hg undergoes the following reactions :

3Cly/ A Bry/ Fe Zn |/ HCI
CrHg LA B > C



https://dl.doubtnut.com/l/_ElFH4QM7GflE
https://dl.doubtnut.com/l/_jb5qB7BoX83Z

The product Cis

A. m-bromotoluene

B. o-bromotoluene

C. 3-bromo-2,4,6-trichlorotoluene

D. p-bromotoluene.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_jb5qB7BoX83Z

